ELECTRICAL CIRCUITS 2 - CLASS NO. 2 (11.03.2025)

SELF INDUCTANCE
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INDUCTORS IN SERIES
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Jhen thee is no mulual coupling betesn inductors in denes, the Totol inductence

s the sum of the individugl inductences
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MUTUAL INDUCTANCE | mulual inductance occurs when induclois aie placed in close
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M= k-{Laly k- coedficient of coupling (Oks1 )
¥ he coefficiost K is an indicetion
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ELIMINATION OF COUPLING IN ELEMENTS HAVING A COMMON NODE
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PROBLEM #1

tlimaale couplings and. calmlate he. equivalent inductance 9F the Ciicuits shoun
in the fiquies. L[4=0.4H, La=03H, =04, Mag=0.4 U, Ma3= 0.95H, Ma3= 0,94,
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PROBLEM #2

Cololate ammetee teadings in He civaits shaun in the Ligutes. M=0.4 4
s = 1007 sin (400t + 999V, Re? 150, Ro=30U, La=G.4H, Ly=0.4H, R3=15D, Cs= 500k, Ly=0.30),
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